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Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 8,538 - 5,169 =
2
2 707 - 508 = 3
4,
3 3,586 - 64 =
5.
4 1,661 - 936 = o
7.
5 636 - 54 = g
0.
6) 35 - 4 =
10.
)77 - 44 = 11.
12.
8 9,017 - 6,131 =
9 5,734 - 262 =
100 615 - 121 =
1) 93 - 3 =
12) 619 - 64 =
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Subtraction (Horizontal) Name: Answer Key
Solve each problem. Answers
" 3,369
1) 8,538 - 5,169 = 3,369
2 199
2) 707 - 508 = 199 3. 3,522
" 725
3) 3,586 - 64 = 3,522
5, 582
4 1,661 - 936 = 725 6. 31
7. 33
5) 636 - 54 = 582 8 2886
0. 5,472
6) 35 - 4 = 31
10. 494
) 77 - 44 = 33 11, 90
12. 555
8 9,017 - 6,131 = 2,886
9 5,734 - 262 = 5,472
10) 615 - 121 = 494
11) 93 - 3 = 90
12) 619 - 64 = 555
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Subtraction (Horizontal) Name:
Solve each problem. Answers
3,522 31 582 5,472 199
3,369 2,886 494 33 725 1

2.

1) 8,538 - 5,169 =
3
4.

2) 707 - 508 =
5.

3) 3,586 - 64 = o
7.

4 1,661 - 936 = 8.
9.

5 636 - 54 = 10.

6) 35 - 4 =

N 77 - 44 =

8 9,017 - 6,131 =

9 5,734 - 262 =

100 615 - 121 =
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